SR Z7E

SH6E12HA5H (K)

JIE {3z K4 ouT | IN [#BX[H D] NET S
1 SH &5k 43 45 88 | 168 [ 71.2

2 #HE A 39 44 83 | 112 [ 718

3 Jek W 42 37 79 72 | 71.8

4 | FH=E BE | 4 50 91 19.2 | 71.8

5 SR =T 46 47 93 | 208 [ 72.2 NP
6 BEE #—B | 44 44 88 156 | 724

7 BEH W= 40 42 82 96 | 724

8 SH E® 42 46 88 | 152 [ 728

9 18 BE 53 47 100 | 264 | 736

10 = 41 40 81 7.2 | 738

11 g &R 45 47 92 18 74

12 =5 B 36 43 79 48 | 74.2 BGE
13 SH BE 40 39 79 48 | 74.2

14 N RS 39 52 91 16.8 | 74.2 NP
15 ESERIEIN 50 50 100 | 256 | 744

16 | —st K —F [ 42 46 88 | 136 | 744

17 A B— 43 43 86 | 11.2 [ 748 NP
18 Ik & 41 46 87 12 75

19 | g FFX | 43 49 92 | 168 [ 75.2

20 B X 42 46 88 12.8 | 75.2

21 R B 43 39 82 64 | 756

22 s 43 47 90 | 144 | 756

23 IMR BSE 41 45 86 104 | 75.6

24 ERy fE— 44 46 90 | 144 | 756

25 h ¥ HiER 45 45 90 | 144 | 756

26 S BE 44 43 87 | 112 | 758

27 | X¥ K= | 42 46 88 12 76

28 =8 1EA 42 42 84 8 76

29 s B 38 47 85 88 | 76.2

30 B ERA 37 44 81 48 | 76.2 NP
31 Ek BX 36 45 81 48 | 76.2 NP
32 £k s 39 45 84 72 | 768

33 HEA EBE 42 46 88 | 112 | 768 NP
34 EL HiE 37 43 80 3.2 | 768

35 INE  BiR 48 44 92 | 152 | 768

36 | HFAX HF—H | 47 49 96 | 192 | 76.8

37 ="k BE— 42 49 91 136 | 774

38 KEF RF 47 49 96 184 | 77.6

39 IRE = A 48 89 | 112 [ 778

40 MR FF 46 47 93 | 152 [ 778

41 B {#X 40 52 92 136 | 78.4

42 T A 51 45 96 | 176 | 78.4




43 FH FHE 45 51 96 176 | 78.4
44 #%MH B 40 45 85 6.4 | 78.6
45 AR IER 39 47 86 72 | 788
46 FE B 37 45 82 32 | 78.8
47 =k INBR 41 49 90 | 112 | 788
48 &= I 48 52 100 | 208 | 79.2
49 HLE EE 39 45 84 48 | 79.2
50 INEF BT 47 53 100 | 208 | 79.2
51 R BE 49 50 99 | 192 | 798
52 BE BE 45 55 100 20 80
53 XH B 50 59 109 | 28.8 | 80.2
54 NS EE 37 45 82 1.6 | 804
55 FEEH = 40 47 87 6.4 | 80.6 NP
56 AL FEHE 45 46 91 10.4 | 80.6
57 A 42 47 89 8 81
58 X = 44 48 92 | 104 | 816
59 BR =& 45 48 93 112 | 81.8
60 BHA i 43 50 93 112 | 81.8
61 IMIL R 44 53 97 | 152 | 81.8
62 AMHEH BEF 49 49 98 16 82
63 [REH =B 41 50 91 8.8 | 822
64 FEig &t 45 51 96 136 | 824
65 Tk B2 44 53 97 144 | 82.6
66 =5 K- 44 46 90 72 | 828
67 EH =4£ 41 58 99 16 83
68 XE XX 46 47 93 96 | 834
69 A EX 47 50 97 | 128 | 842
70 fah E8 45 52 97 | 128 | 842
71 = /\BH 46 47 93 8.8 | 842 NP
72 Bk A— 47 50 97 12 85
713 | MN EXH | 50 60 110 | 248 | 85.2
74 firfl == 47 52 99 | 136 | 854
75 £5 BE 41 50 91 56 | 85.4
76 FE B 52 59 111 | 256 | 854
77 SHF FE= 48 52 100 | 144 | 856
78 O = 47 55 102 16 86
79 K ZER 42 52 94 8 86
80 FEH A 45 54 99 12.8 | 86.2
81 Tk BB 46 53 99 | 128 [ 86.2
82 | =EB HEM | 43 56 99 | 128 [ 86.2
83 7”5% %— 41 54 95 8.8 | 86.2
84 mE BB 49 53 102 | 152 | 86.8
85 ﬂy {E—ER [ 43 49 92 4 88
86 HEXR IFE 54 62 116 28 88
87 MO EBF 49 54 103 | 144 | 886
88 B # 47 53 100 | 11.2 | 8838 NP
89 | FEp FHE=E | 50 56 106 | 16.8 | 89.2




90 fEikE #eT 56 50 106 16 90
91 EL VNS 47 53 100 | 96 | 904
92 ¥ E1T 47 62 109 | 184 | 90.6
93 m BX 50 56 106 | 152 | 90.8 NP
94 =H IE— 48 59 107 | 152 | 91.8
95 =SK #2 48 55 103 | 104 | 926
96 BIEH X 51 56 107 | 136 | 934
97 RiZE EM 65 52 117 | 224 | 946
98 JE W 55 57 112 16 96
99 Tk B 57 68 125 | 248 | 100.2







